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| [3604]-1
M.A. (Part I) (Term-End) EXAMINATION, 2009
ECONOMICS
(EC-1 : Micro-economic Analysis)

Time : Three Hours Maximum Marks : 60

NB. :— (i) Attempt AlZ questions.
(i) Figures to the right indicate full marks.
(iit) Answer should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer the following questions in 20 words each (any seven) : [14]
(1) Define Normative Economics.
(2) What is micfo-economic analysis ?
(3) What do you mean by cardinal utility approach ?
(4) What is price mechanism ?
(5) Define income -elasticity.
(6) What is cross-elasticity ?
(7) What is indifference curve ?
(8) Define price discrimination.
(9) Give any two features of monopoly.

(10) What is Iso-quants ?

P.T.O.
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Answer the following questions in 50 words each (any rwo) : [8]

Explain the functions of market mechanism.
State and explain the Law of Dimininishing Returns.
Explain the properties of indifference curve.

Explain the types of monopoly.

Answer the following questions in 150 words each (any three) : [18]

‘What are the basic economic problems ?

State and explain the concepts of Income and Substitution

effect.
Explain the Law of Variable Proportions.
Why is the short run average cost curve ‘U’-shaped ?

Explain the concept of Cobb-Douglas production function.

Answer any one of the following questions in 500 words : [20]

What are the properties of Iso-quants ? Explain producers

equilibrium with the help of Iso-quants.

Explain the types of price elasticity of demand. What is the

methods measuring price elasticity ?
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Total No. of Questions—4] [Total No. of Printed Pages—3
| | [3604]-10
M.A. (Part II) (Term-End) EXAMINATION, 2009
ECONOMICS _
(EC-05 : Economics of Growth and Development)
Time : Three Hours | Maximum Marks : 60
N.B. :— (i) Attempt All questions.
(ii) Figures to the right indicate full marks.
(iii) Answer should be precise and to the point.

(fv) Draw neat diagram wherever necessary.

1. }Answer the following questions in 20 words each (any seven) : [14]
(1) What is economic growth ?
(2) State two difficulties in measuring the economic development.
(3) What is total factor produétivity ?
(4) What is relative poverty ?
(5) What is surplus value ?
(6) What is Golden Age ?
(7) Give the definition of Innovation.
(8) What is embodied technological progress ?
(99 What is full employment ?

(10) Define labour intensive technique of production.

2. Answer the following questions in 50 words each (any two) : (8]
(1) State the assumptions of Domar’s Model of economic growth.
(2)  Explain the role of government in human resource development.
(3) Explain invisible technological development.

(4) How does the poverty affect economic growth ?
P.T.O.



3. Answer the following questions in 150 words each (any three) : [18]
(1) Explain the Joan Robinson’s Model of economic growth.
(2) Describe crisis in capitaljsm.
(3) Explain the Passonetti’s Model of economic growth.
(4) Explain vicious circle of poverty.

(5) Examine the role of technological progress in. economic growth.

4. Answer any one of the following questions in 500 words : [20]
(1)  Explain critically the Malthusian theory of economic development.

(2) State the role of government in education, health and nutrition.
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Total No. of Questions—4] [Total No. of Printed Pages—3
| [3604]-101
M.A. (Part I) (First Semester) EXAMINATION, 2009
; ECONOMICS _
(EC-101 : Micro Economic Analysis—I)
(JUNE 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. — () Atféiﬁpt All questions.
(ii) Figures to the right indicate full marks.
(iii) Answer should be precise and to the point.

1. Answer the following questions in 500 words each (any one) : [20]
(1)  Explain in detail the concepts of Static Economics and Dynamic
Economics.

(2)- Explain in detail the properties of Indifference Curve.

2.  Answer the following questions in 500 words each (any one) : [20]
(1) Explain the methods of measurement of price elasticity of
demand.

(2) Explain in detail the Law of Variable Proportions.

3. Answer the following questions in 250 words each (any two) : [20]
(1) Discuss the merits of Deductive Economic Method.
(2) Explain the Law of Diminishing Marginal Utility.
- (8) Write a note on ‘Producer’s Equilibrium’.

P.T.O.



(4) (a) Explain the concept of Price Elasticity.
(b) The following table shows the quantity of commodity X’

demanded at various prices :

Px (Rs.) Q. Dx (Units)
4 10
5 20
6 30
7 40

Find the elasticity of Demand if the price changes from
Rs. 6 to Rs. 7.

4. Write short notes (any four) : (20]
(1) .Private Cost and Social Cost;
(2) Substitution Effects;
(3) Limitations of Price Mechanism;
(4) Total Revenue, Average Revenue and Marginal Revenue;
(6) External Economies;

(6) Limitations of Micro-Economics.
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[3604]-102
MA. (Part I) (First Semester) EXAMINATION, 2009
ECONOMICS
(EC-102 : Public Finance)
(JUNE 2008 PATTERN)
Time : Three Hours | Maximum Marks : 80
N.B. — (i) Attempt All questions.
- (ii) Figures to the right indicate full marks.

(iti) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]
(1) State fiscal functions of the Government and explain
co-ordination among these functions.

(2) Explain in detail the ‘Benefit Principle’ of Taxation.

2. Answer any one of the following questions in 500 words : [20]
(1) State and explain the meaning and types of ‘Taxable Capacity’.
(2) State and explain “Wiseman-Peacock Hypothesis” of Public

Expenditure.

8. Answer the following questions in 250 words each (any two) : [20]

(1) Explain the ‘Principle of Equity’ in taxation.

P.T.O.



(2) Explain the distinction between impact and incidence of Tax.
(3) Briefly explain the concept of Social Cost-benefit Analysis.
(4) Describe the concept of ‘Public Debt Management’.

4. Write short notes (any four) : [20]
(1) Role of Government in Mixed Economy
(2) Subjective approach in Taxation
(3) Methods of Repayment of Public Debt
(4) Wagner’s Law of Public Expenditure
(5) Classification of Public Debt
©6) Public Goods and Merit Goods.
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[3604]-103
M.A. (Part I) (First Semester) EXAMINATION, 2009
ECONOMICS
(EC-103 : Agricultural Economics)
(JUNE 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 500 words each (any one) : [20]

(1) Explain the causes and remedies of low Agricultural
Produ(;tivity. |

(2) Evaluate the role of NABARD in Agricultural Credit System.

2.  Answer the following questions in 500 words each (any one) : [20]
(1) Describe the food security situation in India.
(2) Explain the structure and problems of Unorganized credit system

in India. ’

8. Answer the following questions in 250 words each (any two) : [20]

»

(1) “Farming as a business or way of life.” Comment.

P.T.O.



(2) What are the defects of Agricultural Marketing ?
(3) Explain the problems of Agricultural Management in India.

'(4) Explain the challenges before Agriculture sector.

4. Write short notes (any four) : : [20]
(1) Livestock in India;
(2) Agriculture price policy;
(3) Organic farming;
(4) Problems of recycling;
(6) Place of Agriculture in Maharashtra;
(6) Cooperative credit system.
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[3604]-104
M.A. (Part I) (First Semester) EXAMINATION, 2009
ECONOMICS
(EC-104 : Indian Economic Policy)
(JUNE 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(ii) Figures to the right indicate full marks.

(iti) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]
(1) Explain in detail Demographic features of India.

(2) Evaluate the Economic Reforms in India.

2. Answer any one of the following questions in 500 words : [20]

(1) Explain in detail Money Market and Capital Market
Reforms.

(2) Describe the importance and problems of Small Scale

Industries.

8. Answer the following questions in 250 words each (any two) : [20]

(1) Explain the trend and structure of National Income.

P.T.O.



(2)

(3)

Explain the Government Policy towards Public Sector after
1992. |

Evaluate the Social Infrastructural Development.

(4)  Describe the Growth and Pattern of Industrialisation in Post
Reform period.
4.  Write short notes (any four) : [20]
(1)  Importance of Economic Policy;
(2)  Problems of Privatization;
(3) Sources of Energy;
(4) Reforms in Labour Market;
(6) Rural-Urban Migration; |
(6) Recent objectives of Monetary Policy of R.B.I.
(W wiw)
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[3604]-105

M.A. (Part I) (First Semester) EXAMINATION, 2009
ECONOMICS
(EC-105 : Labour Economics)
(JUNE 2008 PATTERN)
Time : Three Hours - Maximum Marks : 80
N.B. :— (i) Attempt All questions. |
(it)  Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]

(1) State the concept of ‘Absenteeism’. Discuss the causes of
Absenteeism of Indian Industrial Labour.

(2)  Explain the structure and achievements of Labour Unions in

India.

2.  Answer any one of the following questions in 500 words : [20]

(1) What is ‘Labour Turnover’ ? Discuss the causes of Low Labour
Turnover in India. |

(2) Take the review of Wage Policy in India since reforms

| period.

3.  Answer the following questions in 250 words each (any two) : [20]
(1) Explain the characteristics of Indian Labour Market.

P.T.O.



(2) Explain the recommendations of Second National Commission
on Labour.
(83) Critically examine the Modern Theory of Wages.

(4) What are the causes of Industrial Disputes in India ?

4,  Write short notes (any four) : [20]
(1) Exit Policy
(2) Scope of Labour Economics
(3) Problems of wage determination in Rural sector
(4) Effects of Migration of Labour
(5) Collective Bargaining
(6) Minimum Wage and Fair Wage.
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2. TWOOUHR! HIUAR T WA W 500 I fomn [20]
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- [3604]-106
MA. (Part I) (First Semester) EXAMINATION, 2009
ECONOMICS
(EC-106 : Co-operation — Theory and Practice)
(JUNE 2008 PATTERN)

Time : Three Hours ' Maximum Marks : 80
N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]
(1) What is Cooperation ? Explain the nature and characteristics

of cooperation.
(2) What is Cooperative Audit ? Discuss the important duties and

responsibilities of Cooperative auditor.

2. Answer any one of the following questions in 500 words : [20]
(1) Explain in detail the provisions of Maharashtra Cooperative

Act, 1960.
(2) Evaluate the role played by Cooperativé Sugar industry in

Maharashtra in rural economic development.

3.  Answer the following questions in 250 words each (any two) : [20]
(1) Discuss in brief the benefits received by the people from the

Cooperative Movement in India.

P.T.O.



(2)
(3)

(4)

Explain the problems in cooperative training in India.
Explain in brief the working and problems of Primary Agricultural
Credit Cooperative Societies.

Explain the development of cooperative movement in Great

Britain.

4.  Write short notes (any four) : [20]

(1)
(2)
(3)
(4)
6))
(6)

Functions of Regional Rural Banks
Objectives of Vaidyanathan Committee
Functions of State Cooperative Banks
Types of Cooperative Audit

Need of Cooperative Supervision

Recent changes in Cooperative Legislation.

(W& wiR)
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[3604]-107
M.A. (Part I) (First Semester) EXAMINATION, 2009
ECONOMICS
EC-107 : Mathematical Economics
(JUNE 2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iti) Answers should be precise and to the point.

(iv) Draw neaf diagrams wherever necessary.

(v) Use of non-programmable calculator is allowed.

"1.  Attempt any one out of two : . [20]

(i) Determine whether the following utility functions would give

rise to indifference curves of usual nature :
@ u=gf+q}
® u = (g1 + 9>

(Zi) Solve the equations by matrix method :

X +y + 2 =

1
x + 2y + 32 = 6
6.

x + 3y + 4z =

P.T.O.



2. Attempt any one out of two : [20]

@)

The demand law is given by x = 10 — p, near the point
x = 4, and p = 6. If the price increases by 5%, determine
the per cent decrease in demand and hence an approximation
to the elasticity of demand. Compare the result with the correct

value of elasticity of demand corresponding to x = 4.

(i1) A monopolist firm has the following total cost and demand
functions :
C=2aQ% +bQ + ¢
P=p - 0Q.
What is the profit maximising output level when the firm is
assumed to fix the output ? Verify that this is the same result
as when firm fixes the price.
8. Attempt any two out of four : | [20]
(i) A market demand curve is given by D = 50 — 5P. Find :

1))

[3604]-107

(@) The maximum price anybody will pay for the commodity.

(6) The amount demanded when the commodity is a free

good. |
Expand :
@ (2x + 3)°



(2id)

Find the values of :

(@)  20.0007

579 - ¥25
b) Nii .
(iv) Prove that :
@ A-CAB-C=(@nB) -C
b)) AnNn@B-C=MAANB - AANDOC.
Attempt any four out of six : [20]

(@)

(i1)

[3604]-107

The marginal cost function for some product is (1 + 2x + 6x2)
where x is the output. Find the total cost function if the

fixed cost is Rs. 100 when the output is zero.

Suppose Ashish intends to purchase some items of cloths namely
pant (P), shirt (S), Bush-shirt (B), Tie (T). He finds that prices
of the different items of the cloths at a particular shop are

as follows :

Prices : (a) Rs. 500 per pant.
(b) Rs. 250 per shirt.
(¢) Rs. 300 per Bush-shirt.
(d) Rs. 200 per tie.

Suppose Ashish wishes to buy 2 Pants, 2 Shirts, 1 Bush shirt
and 2 ties at these prices, how much he will pay for the

whole lot ? (Use matrix multiplication).

3 P.T.O.



(#i)

(iv)

(v)

(vi)

[3604]-107

If the demand function is p = 35 — 2¢x — x2, and the demand

xo i1s 3, what will be the consumer’s surplus ?

An enterprise produced 600 units in the third year of its existence
and 700 units in its seventh year, find its production in the

first and fifth year, assuming it grows in an arithmetic progression.

1 1-x
Show that y=———— and y= are monotonic functions

2x+1 1+x

of x.

Explain Samuelson’s model of accelerator and multiplier.
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[3604]-108
M.A. (Pa}rt I (First Semester) EXAMINATION, 2009
ECONOMICS
(EC-108 : Demography)
(JUNE 2008 PATTERN)
Time : Three Howurs Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(ii) Figures to the right indicate full marks.

(1ii) Answer should be precise and to the point.

1. Answer any one of the following questions in 500 words : [20]
(i) Explain the “Optimum theory of Population”.

(ii) What is Quality of Population ? Explain the factors affecting
Quality of Population.

2. Answer any one of the following questions in 500 words : [20]

(i) = What are the main determinants of population policy ? Assess

the population policy in India during plan period.

(ii) Explain the problems of population growth in less developed

countries.

P.T.O.



3. Answer the following questions in detail with 250 words each
(any two) : - [20]
(i)  Discuss the theory of Demographic Transition.
(i) Why is the study of fertility important ?
(izi) Explain the concept of “Woman Empowerment”.

(iv)  Account for the growth of Rural and Urban population in Developing
Nations. ’

4.  Write short notes (any four) : -~ [20]
(1) Components of Population Growth; ,
(i) General Fertility Rate;
(iti) Reproduction Rate;
(iv) Education Policy of India’s Population;
(v) Pattern of age and sex structure in Developing Nations;

(vi) Age Pyramids.

@ : dF a THOT TOT : 80
gaT — () wd WA Hean

(i) SRSl o ol U ifaan.

({ii) IW Wb 9 HeHS A,

(iv) HWeWHRE W@ ISR WUl vl

1. TOeUH FHUAR W T 500 I dedl [20]
() ‘vl SeEen faga ww w1
(i) OHUEIH T WU ®E ? BRUEd TUEReR IR HOR g
e A
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2. EooUw! FHUEE Weh WA 500 IEE Gredl [20]
() DhHEAtaTEE 9Rv IR TE gew FvR 2 FrsEEEde g

(i) STcdfasdld @IMdle ShdEd = gueEn WR .

3. wde WAl SN YIS 250 =W fow (FRE @) [20]
() ‘v wwEwn' fagiael == w5
@) Sfawgs s HewEl w1 osme 2
(i) ‘TRl WESHOTH Goheu . T .
(v) fowrdld Gmde o 9 w0 dwEen g R =5

4.  deRE du fow (AR Ww) [20]
(@) hEE gEN uEH
(i) TR § &)
(i) YAHmin <
(iv) NGl SihEEfawas afs O
() fobed amdte ag enfor fon @
(vi) T T(H S
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Total No. of Questions—4] | [Total Neo. of Printed Pages—4
[3604]-11
M.A. (Part I) (Term-End) EXAMINATION, 2009
ECONOMICS
(EC-6 : International Trade and Firance)
Time : Three Hours Maximum Marks : 60
N.B. :— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.
(iii) Answers should be precise and tc the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer the following questions in 20 words each (any seven) : [14]
(1) What is Absolute Advantage ?
(2) What is meant by intra-industry ‘trade ?
(3) What is factor endowments ?
(4) What is barter terms of trade ?
(6) What is Tariff Barriers ?
(6) What is meant by Dumping ?
(7) What is meant by Quota 7
(8) What is Balance of Trade ?
(9) What is Gold Standard ?

(10) What is fixed exchange rate ?

P.T.O.



2.  Answer the following questions in 50 words each (any two) : [8]
(1) Explain the Leontiffs parédox.
(2)  Explain the economic effects of tariffs,
(3) Explain the merits of fixed exchange rate.

(4)  What are the non-tariff barriers ?

3.  Answer the following questions in 150 words each (any three) : [18]

(1)  What are the measures adopted to correct disequilibrium in

balance of payments ?
(2) Explain the demerits of fixed exchange rate.
(3)  What are the types of quota.

(4) Explain the effect of foreign trade multiplier on National

Income.

(5)  Explain the Rebezynski theorem.

4. Answer any one of the following questions in 500 words : [20]
( 1) Explain the Modern Theory of International Trade.

(2) Evaluate how the international trade can become an engine

to economic growth.

[3604]-11 2
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(E T
@ : W oA : T&HUT 0T : 60
O o— () W WA WRTF IR
(ii) 3ISEwete i g o <zifaam.
Gif) I T T YL .
(v) ETF IV GAH I T

1. e W W ydw 20 =@ fow (%ﬁw&é a) [14]
‘(1) g oy w™ s 2
(2) IR-II AR TS FEH 2
(3) =& HWH W w™ ?
(4) TKEY OIEE BWON @ ?
6 “EHtEE ST’ W wE 2
6) ‘‘sEysa’ wos wH ?
() =& B wE 7
(8) =R A WIS w1 ?
@) g wfom wos w2
(10) fer fafma w woe w7 ?

2. WEE WA W TS 50 T=E fowl (B @w) [8]
(1) ‘fosiffre fodavm" ww =
(2) v ofds wfom ww= wa.
3) fer fafma w9 T w= ww
@) EER s B a2
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é. THe WA 3w Tdel 150 3 fom (i@ W) (18]
(1) =9ER ATNS JTHAS FHH HOIEE A YR ASH Frsied

S| 7
2) fer fofma @ Q9 @W= %0
(3) @ fafay y&R wod ?
4) TR SOEeRe fRn =\uR PRl IRUm W &
(5) ‘fafg=nt w73’ wW= &4

4., THNH HUEE Th WA 500 IC@ HeA [20]
(1) oraeusdta wOREn e fagm we &

(2) UE =ER g AfdE 3N T w9 9% ed A gogurH
1.
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Total No. of Questions—4] [Total No. of Printed Pages—3

| [3604]-12
M.A. (Part II) (Term-End) EXAMINATION, 2009
ECONOMICS
(EC-13 : Agricultural Economics)
Time : Three Hours Maximum Marks : 60
N.B. :— (i) Attempt All questions.
(&2 Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1. Answer the following questions in 20 words each (any seven) : [14]
(1) State two obstacles in modernisation of agriculture.
(2) State two problems of milk marketing.
(8) What is livestock productivity ?
(4) State two problems of winery.
(5) What is production function ?
(6) Define resource substitution.
(7) State two principles of factor combination in agriculture.
(8) Define capitalist farming.
(9) What do you mean by land reforms ?
(10) State two problems of Marginal farmers.

2. Answer the following questions in 50 words each (any two) : [8]
(1) Explain the interdependence between agriculture and industry.
(2) Explain the importance of rural industrialisation in India.
(3) Explain the significance of farm budgeting.

(4) Explain the drawbacks of collective farming.

P.T.O.



3. Answer the following questions in 150 words each (any three) : [18]
(1) Explain the role of agriculture in poverty alleviation.
(2) Explain the relation between agricultural development and
environment problems.
(3) Explain the laws of returns in agriculture.
(4) Explain the factors affecting the aggregate supply in agriculture.

(5) Explain the determinants of factor combination in agriculture.

4. Answer the following questions in 500 words each (any one) : [20]

(1) What do you mean by diversification of rural economic
activities ? Explain its progress and problems in India.

(2) Write an cssay on performance and problems of land reforms

in India.

(WS FUW)
- THOT 0T : 60
W:—(i).'ﬂé wq  diedl.
(ii) St @w ol YO SFife.
(iii) SW Iuw| 9 THYS STEE(.
(jv) weulardl o TUSHt wyAulrehl wgrel.

1, @O® WAE YS! 20 T[S el (HvdEl wE) [14]
(1) Id= snyfetsonde g9 fedd Ei.
(2) o -fouvmrea R wHAEN |
(3) UHARl IcURHA WIS HME 7
(4) oEEden @R SEE .
(5) SURA e WIS % ?
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(6) e wfaeArel SrEn #.

(7) IdWde wew AN S d 9.

(8) vieas! I A FHAL

(9) SHH [uRum Il gRE &E sAddy gar ?
(10) Hmd Fask-ars 9 a9

2, UWO® WA TR 50 IWE SW foE (FoEE qE) [8]
(1) [ 9 SEe WEREeEE O .
(2) 9YRadte U o Wed T R
(3) 3IE AdTHUE Hed TR FHA.

(4) WHRME 9 W= FH4.

3, Wl WAEN Tdw! 150 IR SW (@R (FRE A [18]
(1) <ifey fHeommde el yfFe = .
(2) IifaeRr ST 9hifeRyl WHEN AMdle g9y TR &
(3) Idmde yfawer frm == Ha
(4) Idmdie THU RISUER URUM ROR HTE G
(5) FHmdte wew WA fufe wew T

4, WAGUH! HUAE T W 500 IEM HEd - [20]
| (1) i sufds feam fafadietor am=n gRE &@ s1ddiy a1 ? YRas
A YA F GHE s L
(2) YRAMIG SHHA gURUT=N W snfu wmen g ey femn
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Total No. of Questions—4] [Total No. of Printed Pages—3
| [3604]-13
M.A. (Part II) (Term-End) EXAMINATION, 2009
ECONOMICS

(EC-14 : Financial Institutions and Markets)
Time : Three Hours Maximum Marks : 60
N.B. :— (i) Attempt All questions.

(it) Figures to the right indicate full marks.

(tit) Answers should be precise and to the point.

1.  Answer the following questions in 20 words each (any seven) : [14]
(1) What is Financial system ?
(2) What do you mean by deregulation ?
(3) Define financial liberalisatidn.
(4) What is liquidity risk ?
(5) Define basic yield.
(6) Define Commercial Bank.
(7) What is finance ratio ?
(8) What is Non-Performing Asset ?
(9) What is Financial Innovation ?
(10) What is gross yield ? |

2. Answer the following questions in 50 words each (any two) : [8]
(1) Explain the concept of financial integration.
(2) State the functions of financial sector.
(3) State the principles of valuation of security.

(4) Explain the concept of Risk and Return.
' P.T.O.



3. Answer the following questions in 150 words each (any three) : [18]
(1) State and explain the need of financial sector reform.
(2) Explain the profitability of commercial banks in India.
(3) Explain the structure of commercial banks in India
(4) Explain the concept of financial engineering.

(6) Evaluate briefly the classification of Risk.

4. Answer any one of the following questions in 500 words : [20]
(1) Critically evaluate the Performance of Commercial Banks after

1970.
(2) State the need of financial sector reforms. Evaluate the financial

reforms in India.

(W& waiw)
4 : W A THIT T : 60
gETN — () wWE WA HE
o (i) SEwSe e ol o el
(i) IW ARl I LR SEm.
(lv) TRYEE H@ U WRAUGRR vgrE.

1. Ut WA Y& 20 IKA SR fow (FvRd |@W) [14]
(1) forila =een "N &7 ?
) fafEo @ geM w@ gy @a ?
(3) foxfta SR =ren =
(4) JE@ e wWIS ®E ?
(5) YYd Wiwrdl e .
(6) SNURT <l =R .
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(7) fadla R "N ™ ?
8) fifspa wowm wmvd s 2
9 foia @Eyads mve w1 ?
(10) o Il BN &wE ?

2. WH® WA YA 50 <M IWiwl (FURE BN [8]
1) fodia uwlmsomst dween W F1. ‘
(2) foda €=t ®d @i
(3) wheE g @ @
(4) 1 ftl WA dHeu TR F.

3. U WAH TH 150 TRE SR fow (Hved @) e [18]
(1) fodita Qe guUROTE! RS GO 9 W F
(2) VRAKe MR dHE AIIEGA WL
(8) WRAMI® =AU b=t T WL F.
(4) fadfia sfafelt g@eqw W= 4.
(5) Rl AN G EguYE .

4, AR HUEE WEH WIN SR 500 <@ fow [20]
(1) 1970 7R =UR dHe HEONN fewras  w@am @,
(2) ffta Aot guRM R @i YRaRe e QuROe geani
.
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[3604]-14

M.A. (Part II) (Term-End) EXAMINATION, 2009

ECONOMICS
(EC-15 : Computer Application in Economic Analysis)
Time : Three Hours : Maximum Marks : 60
N.B. :— (i) All questions are compulsory.
(i1) Figutes to the right indicate full marks. ‘
(iii) Answers should be precise and to the point.

(jv) Draw neat diagrams wherever necessary.

1. Attempt any seven of the following : [14]
(1) List the components of computer.
(2) What is software ?
(83) What is file ?
(4) What is operating system ?
(5) What is median ?
(6) Define regression coefficient.
(7) List any two storage devices.
(8) What is the use of scanner ?
(9) What are the objectives of average ?

(10) Why are there two regression lines ?

2. Attempt any two of the following : (8]
(1) Explain any two input devices.

P.T.O.
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(2) Explain opening and appending file operation.
(8) Describe the importance of statistical method.
(4) What are the mérits and demerits of least square method ?
3. Attempt any threek of the following : [18]
(1) What are the advantages of diagrammatic and graphical
representation of data ?
(2)' Explain the moving average method to measure the trend.
(3) Explain the organization of floppy disk.
(4) What are the applications of computer ?
(5) What is data ? What is information ? What do you mean
by data analysis ?
4. Attempt any one of the following : [20]
(1) What are the different types of file organization ? What are
the advantages of DBMS over file organization ?
(2) Define arithmetic mean, mode and state the formula for each.

Discuss merits and demerits of arithmetic mean and mode.



Total No. of Questions—4] [Total No. of Printed Pages—3
| [3604]-15
M.A. (Part II) (Term-End) EXAMINATION, 2009
ECONOMICS
(EC-16 : History of Modern Economic Analysis)
Time : Three Hours Maximum Marks : 60
N.B. :— () Attempt All questions.
(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1. Answer the following questions in 20 words each (any seven) : [14]
(1) Give Amartya Sen’s definition of Human Resource.
(2) What is Hicks ordinal utility ?
(8) Give two objectives of Solow’s model of economic growth.
(4) State Samuelson’s definition of revealed preference.
(5‘) State Friedman’s definition of permanent income.
(6)' State Lewis’s definition of economic development.
(7) What is export obsolescence ?
(8) What is the Marginal Rate of Substitution ?
(9) What are the factors that determine demand for money ?

(10) Give Ragnar Frisch’s definition of Dynamic Economics.

P.T.O.



2. Answer the following questions in 50 words each (any two) : [8]
(1) Explain the concept of Arrovin ‘social welfare function’.
(2) State the features of monetarism.
(3) Explain Arrow’s conditions of social choice.

(4) Explain Amartya Sen’s approach to applied welfare economics.

8. Answer the following questions in 150 words each (any three) : [18]
(1) Explain Milton Friedman’s approach of monetarism.
(2) Explain the consumer’s equilibrium described by Hicks.
(3) Explain Lewis’s theory of Balanced Economic Growth.
(4) Explain Robert Solow’s model of Economic Growth.

(5) Explain the Timbergen’s approach of dynamic economics.

4, Answer the following questions in 500 words each (any one) : [20]
(1) Examine critically the portfolio theory of Tobin.

(2) Critically examine Samuelson’s Revealed Preference Theory.

(W& T
q% : W A THUT T : 60
GO c— () WA W gien.
(ii) SeiweEle ofF Yol U SRIfe.
(i) JW YR 9 HRIG SAEEM.
(iv) ﬁﬁ’m U FUSH WRAUIHR IR,

1. WOo® S T@&e 20 KK SR few (+vad |W) [14]
(1) ¥\FEl GEYErE Smedd gkl e .
) ferm aiEl wHaEE W[ ®WUS ®19 ?
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(3) dWet g onfdw g&t whammrER @ sfes wmm
(4) Ygow A YHe THAEN A G

(5) Trema A<t Wl SO=El =Rew L

6) ofaw ==t sufde fawmr= =men .

m  frk gw wo wm o7

(8) U@ waREta S WS ®E 7

@) Wt wreht fruifa wOm owew wim 2
(10) TR fien =l wfam siehmost s .

2. WO WA YEHE 50 IRW SN few (IR ) [8]
(1) 3N ai= ‘Wi Hedm ReAEl heddl TR .
(2) TEERREN dfiTel @,
3 N I gwie feER ey e 1.
(4) omd W7 = YA AfdE weamme gfesn wwe w5

3. TO® WAH YAH 150 IR SR fow (Fvmd @) [18]
(1) fueea frem = qEERME gfedH @< =
@) fem gt vl Soe sudedra e wR %
(8) ofow ar ugfea onfde faemmn fagia w= .
(4) U A I Aftw gg whmm W @
(5) WiawA eRmEArEn foseR AN gfiedn wR @9

4. EAOIH HUEE WEh WA 500 T el [20]
(1) T =G Jan g fagem fewrmie wWaw s
(2) YHgouq A1 YHa uadt fagoe fowrcas whyw &
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[3604]-2
M.A. (Part I) (Term-End) EXAMINATION, 2009
ECONOMICS
(EC-02 : Public Economics)

Time : Three vHours | Maximum Marks : 60
N.B. :— () Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

1. Answer the following questions in 20 words each (any seven) : [14]
(1) What is Mixed Economy ?
(2) What is Taxable Capacity ?
(3) Define Public Expenditure.
(4) Define Public Economics.
(5) Give two characteristics of private sector.
(6) What is burden of tax ?
(7) Define discount rate.
(8) State the two criteria for public investment.
(9) What is economic stabilization ?

(10) What is meant by programming budgeting ?

P.T.O.



2. Answer the following questions in 50 words each (any two) : [8]
(1) Briefly explain the ‘Ability to Pay Approach’ of taxation.
(2) Explain briefly ‘Tiebout Model’
(3) Explain the concept of social cost-benefit analysis.

(4) Explain briefly the structure of public expenditure.

3. Answer the following questions in detail with 150 words each
(any three) : [18]

(1) State the role of government in organised economy.
(2) Explain the concept of ‘Zero Base Budgeting’.

(3) Explain the theory of Optimal Taxation.

(4) Explain the causes of growth of public expenditure.
(5) State and explain the theory of ‘Club Goods’.

4. Answer any one of the following questions in 500 words : [20]
(1) Explain fully Wagner’s Law of public expenditure.

(2)  Explain the contribution of Samuelson and Musgrave in provision
of public goods.

(W& i)
@ : @ A THUT T : 60
o — () WE WA gedn '
(i) SEwEre #w YU o qRifaan.
(G5i) SW IME G YL @,
(lv) SEIH d Yoo Mhdl Ha.
(v) TEHMEIE Y TUSH WU UgrEl.

1. WPe WA Y@E 20 I SR OfeE (FURE 9 [14]
(1) fafsia srdegaren wow w@ 2

(2) HRIA UFAl WIS HE  ?
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(3) Udwfte wEi=t =men =@

(4) wESHE SIRTEET e W’
5) @ S Qe AT @
(6) HIUR U HE ?

(7) ‘oeUmEes =T SR WL

(8) WESTh Taaveie @M ey @i
9) e ferim =S @™ ?
(10) wrEfSa sidbsdedd wWUN R ?

2. Uolo WAEl Y&S 50 I SW few (HUE €M)
(1) HWYUIE ‘hed §HA SR’ dieR| R H.
(2) el 9faAE  (Tiebout Model) #iedad TR &
8) ‘wrifsk TE-ww' fRoww g HEeT We F
(4) dESte @EE @ AR WRe &

3. WP WANl TR 150 IRE W T (Fvmd fi|)
(1) EEld Redeyaeda amearet i 9.
(2) UG sduseursl Theu TR H.
(3) @ wuumen fagra W .
(4) e wd gEEl HRO TR W
(5) ‘Wgw &' (Club Goods) fagia @m & W= =

4. U HUCAE WH WA 500 =@ W o
(1) e = aEaw TR gEr . gfaer @ #5w.

[8]

[18]

[20]

(2) UESH® o e dedld dgetedd ol nele AN dveH s

6.
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Total No. of Questions—4] [Total No. of Printed Pages—3

| [36041-201
M.A. (Part I) (Second Semester) EXAMINATION, 2009
ECONOMICS
EC-201 : Micro-economic Analysis—II

(JUNE 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B.

+— (1) Attempt All questions.
(ii) Figures to the right indicate full marks.
(iit) Answer should be brecise and to the point.

(iv) Draw a neat diagram wherever necessary.

Answer any one of the following questions in 500 words : [20]

(i) “Given the price, output is larger under perfect competition

than monopoly and given the output, price is higher in monopoly

than perfect competition.” Discuss.

(ii) Critically examine the Modern theory of Interest.

Answer any one of the following questions in 500 words : {20}

({) How is price and output determined under Oligopoly ?

(ii) Critically examine Marginal Productivity Theory of Distribution.

P.T.O.



3. Answer the following questions in 250 words each (any two) : [20]

(i) What is Discriminating Monopoly ? Under, what conditions is
it possible ?

(ii) “Kinked demand curve is a characteristics oligopoly.” Discuss.
(itz) Explain Baumol’s Model of Sales Revenue Maximization.

(tv) Explain the Bergson-Samuelson’s social welfare function.

4, Write short notes on (any four) : (20]
() Selling cost;
(iz) Risk and Uncertainty theory of Profit;
(iti) Excess capacity;
(tv) Conditions of Pareto optimality;
(v) Wage determination under Collective Bargaining;

(vi) Features of monopoly.

(TS wie)
@ : W A | THUT TOT : 80
AT — () WE WA Grean
(i) SSdhSte e YUl U SAfa.
(iii) 3MERIF A9 Yah AFA FIE.
(iv) SW IS 9 HeYg STEEM.

1.  GoUsl HIUEE TEh T 500 TEW Sea | [20]

@) fema KOS smam ol wia wRcRNen AR ym sifye st
mmﬁmq&aa@wmwm%mmﬁ
g o9d. '’ == &

@) STl yfte fagiae fedrrs wdem .
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2. WOGUH HIVAR Wk W 500 IEW GEd , [20]
@) WWWWHW%WW%?
Gi) fawsren fouia Saces fagom fews qhyu =

3. Wde WA SW wdS! 250 @ fowl (FIURE ) [20]
() faudt woel WS ®@ ? wven URferdd O I SEd 2
(i) SR HAO ok R Sredfoshaivei Sfitew SR ==l @
(iii) weHlew fomt Uil AERHiEROTE GiiIE TR w6
(jv) WEA-UgeaT= AR FEU Hed TR H.

4. deRE du foRr (HEE WR) [20]
@) fomt @

(;i)mmaaﬁmﬁmm@iﬁ;
(i) fafea e

(jv) W= WA= 3, |
(v) IR QS A,
(vi) TR Afitse.
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[3604]-202
M.A. (Part I) (Second Semester) EXAMINATION, 2009
ECONOMICS
(EC-202 : Indian Public Finance)
(JUNE 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— () Attempt All questions.
(i) Figures to the right indicate full marks.

(iit) Answer should be precise and to the point.

1. Answer any one of the ‘following questions in 500 words : [20]

(1) How does the Central Government prepare and present the
Budget ? Discuss it.

(2) Discuss the major trends in Revenue of Union and State

Government Since 1991.

2. Answer any one of the following questions in 500 words : ([20]
(1) State and explain interdependence of Monetary and Fiscal
Policies.

(2) Explain in detail the principles of Fedral Finance.

8. Answer the following questions in detail with 250 words each
(any two) : [20]
(1) Discuss the reforms in Direct Taxes.

P.T.O.



(2) vExplain the effects of Deficit Financing in Indian Economy.
(3) What are the causes of Indian Fiscal imbalance ?
(4) Discuss the provisions of Transfer of Resources from union

to state.

4. Write short notes on (any four) : [20]
(1) Sources of Revenue of the State Governments.
(2) Burden of External Public debt.
(3) Balance budget multiplier.
(4) Vertical and Horizontal Imbalance.
(5) Recommendations of 12th Finance Commission.

(6) Components of Budget.

(W& wiaD)
qF ; q ™ : THUT TOT : 80
gaT — (i) W WA Wi
(ii) Soiwele % ol o <ifadm.
((ii) SW AR 9 LY SEE
(jv) Hewlardl T@ TUSH YgA-ufehl 9gmEl

1. WW@WSOOWWW' [20]
(1) g WHR SEEOFENET Tl o GRdeT ®Y wd 2 F9

(2) 1991 A=A wg 9 T WHRE Aegelawds W@ Vo« @4l
. |
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2, Uol® HUdE T WA 500 =M IW fow [20]
(1) =oAfosaes €9Rer 9 TSfaxig %ﬁTUT MG WEdSsE G o
W R
2) g fodiy =a@=t yq@ 90 gfaem R 9.

3. TP WA yOE 250 T=W SW feR (FoRE @) [20]
(1) Y8 &Udle guronfases = .
(2) YA Sdredde qeren g ufomm W &
(3) vRd fodla emWdiorl RO SR ?
(4) hEHEGT TSIHS TN U WEArE el fawdt == &

4, deFE dw few (FORE WR) [20]
(1) T W= Tegerr e '
(2) WY WEN® Hedl ¥R
(3) UIOW SRESUARE U
(4) WYTH 9 GHIMS ST
(5) wwrem fow s RTeREh

(6) ITETSHRE  HIF.
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[3604]-203

M.A. (Part I) (Second Semester) EXAMINATION, 2009

ECONOMICS

(EC-203 : Indian Agriculture Problems and Policies)

(JUNE 2008 PATTERN)
Time :. Three Hours

Maximum Marks : 80
N.B. — ()

Attempt All questions.

(11) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

Answer any one of the following questions in 500 words

[20]
(1)

Discuss the past and present policy of ceiling on land holdings
in India.

(2)

“Low efﬁcieﬁcy of agricultural labourers is the obstacle in

agricultural development in India.” Discuss.

Answer any one of the following questions in 500 words

(1)
(2)

[20]
Critically evaluate the impact of WTO on Indian agriculture.

Examine the problems of Agricultural Exports and Imports
after 1995.

Answer the following questions in 250 words each (any two) : [20]

(1) Explain the significance of SEZ Policy in India.

P.T.O.



(2) “EXIM Policy 2004-09 can increase agricultural export.”
Discuss.

(3) Explain the need and importance of Employment Guarantee
Scheme.

(4) Explain the agricultural problems in Maharashtra.

4. Write short notes in 100 words each (any four) : [20]
(1) Agricultural Policy in Maharashtra.
2) Importance of Agricultural Labour Policy.
(3) Recent changes in flower export policy.
(4) Issues of agricultural subsidies.
(5) Need of scrvice sector in relation to agriculture.

(6) Problems of agricultural imports.

(TS T
q% : d1 AW THUT TOT : 80
ot — (i) Wa WA "
(i) Sodteele of® gul U SFifer.
(iii)) W A9E 9 HLHS IE.
(v) el Ho TSl WEA-ulAel dere.

1. WOHH FUAE Tk WA 500 @ dredl [20]

(1) 9RAd® swie urRenfosEs  qui= 3 gufeudidie  dor ==l
.

(2) “ﬁﬂnﬁﬁﬁmmmﬁmﬁﬂﬁﬁmﬁ@maﬁ"w
.
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2, WOl HUEE TWeh TA 500 G HEAl [20]
(1) 9rda fdiado smfas saad geeT=an afome fafecas gegame
F. |
(2) 1995 AR Faue aEgeN EE-Trald suee gden &

3. Woe WA S YAl 250 I fow (FvRd @F) [20]
(1) 9Radie fagis sufde &9 Ogd W=
(2)  “2004-099 eE@-frld URu Fade fEld we wegd se.” ==l
< {.
(8) AR g ASHE TEzashal iUl HE™ TR &L
() weRredio Adie wmen w

4, OO AU YE 100 F=W forl (SR |R) [20]
(1) wewsTde FH
(2) ﬁ?ﬂﬁg U Hed
(8) wo frfa dRurde sfewdle 9go
(4) Fdifasas e WA
5) e wewld [er ST WS

(6) Iwle A= U
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Total No. of Questions—4] [Total No. of Printed Pages—3
[3604]-204
M.A. (Part I) (Second Semester) EXAMINATION, 2009
ECONOMICS
(EC-204 : Industrial Economics)
(JUNE 2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.

(11) Figures to the right indicate full marks.

(iit) Answer should be precise and to the point. .

1.  Answer the following questions in 500 words each (any one) : [20]

(i) Describe the importance of private sector in Industrial
development. Discuss the advantages and drawbacks of private
sector.

(ti)  Critically examine the Alfred Weber’s theory of Industrial Location.

2.  Answer the following questions in 500 words each (any one) : [20]

(i)  What is meant by Industrial productivity ? ‘Industrial productivity
is playing an important role in competitive environment.” Comment.

(it) State the importance of Industrial Finance. Explain the various
sources available for financing public sector.

3. Answer the following questions in detail with 250 words each
(any two) : [20]

(i) Explain the causes of Industrial Imbalance.
(i) State the role of foreign capital in economic development.
(iti) Explain the salient features of Industrial Policy Rosolution, 1991.

(iv) Role of Multinational Corporations in India.

P.T.O.



4. Write short notes on (any four) : [20]
(i) Causes of Industrial Combinations.
(ii) Factors affecting underutilisation of capacity.
(iii) Government policy towards Foreign Direct Investment.
(iv) Problems of Cottage Industries in India.
(v) Scope of Industrial Economics.

(vi) Industrial Policy, 1977.

(TS wUR)
A% : W T TH T ;80
E :— () WE WA el
(i) SoEHE® o YU U Rifodr.
(iii)) IW TR o HHT .
(iv) . GeHlEEd @ 3USl WAl WRrEl.

1. UHoUHh! SHIUAE T TIT 500 IEC Gedl [20]
G) oxifier fowdde @ &9 Ted farg 0. @l &= @Y
g quEl 949 &

(G3) oTehe Aereal IUrRgHrE=tn fagam Seas 9iem &

2. WHSUHR! HVEE Tk W 500 I=[@ Hredl [20]

G) oiifilr SuRHEa BN & ? ‘wWylcys araaiond fefie SR
el fteht aoEd.’ ==l &

(i) oeifirer foaqiaca™ Hew@ M. WEEE AW UGN Ul fafay
diare et
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\3. oo WA W Y@ 250 3@ fow (R d@m) e [20]
() oieifie sToudiorEl HRU TR H

i) o ferrdte whed s fe i

(Gii) 1991=m AMENfTe URU EE 3B®  AfyTeRl T

(jv) FBURA ARSIl WRAde e

4. deEm du fow (SAE WR) 20]
(i) ofEifer FEMER wR9)
() SERA §HASA YA AR wﬁm FOM  TTH
(i) TR Fe TaEUEEEH WER HRU
(fv) YRANG HERENTA qHE]
(v) SRNfE SR =
(vi) 19779 oirEifis  dRo
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[3604]-205
M.A. (Part I) (Second Semester) EXAMINATION, 2009
| ECONOMICS
(EC-205 : Rural Development)
(JUNE 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(i) Figures to the right indicate full marks.

(Zii) Answer should be precise and to the point.

1. Answer the following Questions in 500 words each (any one) : [20]
(1) State and explain the causes of Rural Indebtness.
(2) Discuss the performance and problems of EGS (Employment

Guarantee Scheme).

2. Answer the following questions in 500 words each (any one) : [20]
(1) Briefly comment on Training Rural Youth for self-employment.

(2) Discuss the causes and remedies of rural unemployment.

3. Answer the following questions in detail with 250 words each
(any two) : [20]
(1) Explain the approach of V.M. Dandekar to rural development.
(2) Explain the role of Rural Industrialization in Economic

Development.

P.T.O.



(3) State the employment opportunities available in unorganised
sector and explain the .j)roblems related to this sector.

(4) Briefly comment on Swarn Jayanti Gram Swarozgar Yojana.

4. Write short notes on (any four) : [20]
(1) Tribal Development Programme;
(2) Rural Electrification;
(8) Structure of Rural Economy;
(4) Marginal Farmer and Agricultural Labour;
(5) Rural Transport;

(6) Green Revolution.

(TS FR)
¥ : W AW WHUT T : 80
gan — @) ad W Al sTERIE IR
(i) Sodiwe IF YO IO Fifeaw.
Gii) TN IR T YRYR S
(iv) TewiEd Y@ el wEA-uER wEE.

1, TP TEAE T@E 500 T SN few (FUER TH) [20]
(1)mmmﬁw@wmamm.
(Z)meﬁﬁmamwm.
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2, WO WAH TR 500 KM SW few (FvEE uaw) [20]
(1) "o | WEGSTR YRR A sEwHeR  desd ==
.
(2) T SUSRET FRY T U ASHER wel w9

3, W WA TAR 250 TmE SW fow (Fd @) [20]
1) & w <=wt= e fermEedn qRimm we Sy
(2) e fommm o Sleifeor=t yfes e w5
3) Hudd fAWT UGSy FATSE VSR Weft wm emfor =
(4) Gaui SEd UM WASIR ANeel diew ||l wa

4, dewE du fom (FvEE Ww) [20]
(1) onfearRt fawm wrdHy;
@ i fegie;
(8) THiu NdFEE
(4) fomim fawd anfor ameg;
(5) 11111'\17! ELESC
6) efad.
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Total No. 'of Questions—4] [Total No. of Printed Pages—2
[3604]-206
M.A. (Part 1) (Second Semester) EXAMINATION, 2009
ECONOMICS
(EC-206 : Computer Application in Economic Analysis)
(JUNE 2008 PATTERN)
Time : Two and Half Hours Maximum Marks : 60
N.B. — (i) Attempt All questions.
(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

1. Attempt any one of the following : [1x15=15]
(i) Explain B2B and B2C model with its application.

(ii) Explain the working of ATM. What are the advantages and
disadvantages of ATM ?

2. Attempt any one of the following (A or B) : [1x15=15]

(A) (i) What is operating system ? Explain the use of control
panel. , (8]

(ii) What is Network ? Explain Client Server Network. [7]
Or
(B) (i) Explain the different types of computer. [8]
(ii) What is spreadsheet ? Explain any three built in function
used in MS-Excel. 7]

P.T.O.



3.  Attempt any three of the following : [3x5=15]

(i) How is the security provided for E-commerce ?
(i) What are the different techniques use for authentication ?
(iii) What are the goals of Network ?
(fv) What is electronic transaction ? How is this transaction validated ?
(v) What are application of Internet ?

4.  Attempt any three of the following : [3x5=15]
(i) Explain any two output devices.

- (ti) What is Software ? Explain different types of software.
(iit) What is MS-Chart ? Explain the steps for creating a bar chart.
(iv) Explain the various components of a window.

(v) Explain how digital signature provides security.

[3604]-206



Total No. of Questions—4] [Total No. of Printed Pages—4+1

[3604]-207

M.A. (Part I) (Second Semester) EXAMINATION, 2009

EC-207 :

ECONOMICS

Statistical Techniques

(JUNE 2008 PATTERN)

Time : Three Hours

Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(it) Figures to the right indicate full marks.

(iti) Answers should be precise and to the point.

(iv) Use of non-programable calculator is allowed.

1. Attempt any one :

[20]

(i)  The following table gives number of miles covered in one day

by 150 delivery vans :

Number of Miles Number of Vans
Under 30 03
30 and under 40 14
40 and under 50 30
50 and under 60 34
60 and under 70 28
70 and under 80 23
80 and under 90 15
90 and over 03
Total 150

(¢) Draw an

data.

ogive cumulative frequency curve of the above

P.T.O.



() From your ogive find :
(i) Median
(ii) Lower Quartile
(iii) Upper Quartile
(iv) The lowest Quartile
(v) The highest Decile.

(¢) Estimate the percentage of vans that cover between 48

and 77 miles per day.

Gi) Find the mean values of the two random variables ‘%’ and
“’, and the correlation coefficient between them when the two

lines of regression are given by :
bx + Ty — 22 = 0
6x + 2y — 20 = 0, and

if the variance of y = 15. Find the standard deviation of %’

2. Attempt any one : [20]

(i) In 1,000 extensive sets of trials for an event of small probability,

the frequencies O; of the number x; of successes proved to

be :
X i Oi
0 305
1 365
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(i1)

[3604]-207

2 210

3 80
4 28
5 09
6 02
7 01

Find the mean and variance of the successes. Discuss probability
of frequencies following the Poisson distribution. Also test the

goodness of fit by the Chi square test.
Compute the quadratic trend of the form :
y = a + bx + 6x2

for the data showing the production of an item over a seven

year period.
Year - Production

(000 units)

1985 10
1986 11
1987 12
1988 09
1989 10
1990 13
1991 11

3 P.T.O.



3. Attempt any ftwo : [20]

(2)

(i1)

(tit)

(iv)

[3604]-207

The sum and product of the mean and variance of a binomial

distribution are 16 and 48. Find the distribution.

The research unit in an organisation wishes to determine whether
scores on the scholastic aptitude test are different for male
and female applicants. Random samples of applicants file are

taken and summarized below :

Applicants
Female Male
X 502.1 510.5
S.D. 86.2 90.4
n 399 204

Using the above sample data test the Null Hypothesis that
the average score is the same for the population of male and
female applicants. Use 5% significance level and assume that

the scores are normally distributed in each case.

If four squares are chosen at random on a chess board, find

the chance that they should be in a diagonal line.

A certain stimulus administered to each of the 12 patients

resulted in the following increase of blood pressure :
5 2,8 -1, 3,0, -2, 1,5, 0, 4 and 6.

Can it be conducted that the stimulus will, in general, be

accompanied by an increase in blood pressure ?

[Given : For 11 d.f. 501 = 2.7]



(i)

(11)

(i)

(iv)

(v)

(vi)

[36041-207

Attempt any four : ‘ [20]

Write a note on ‘conditions for and ‘Uses of Chi square (x2)
test.

A die is thrown twice and the sum of the numbers appearing
is observed to be 7. What 1is the conditional probability that

number two has appeared at least once.

Explain the concept of moving averages. How do they help

in measure the secular trend in time series ?
Write short notes on :

(@) Stratified random sampling

(b) Multistage sampling.

Write short notes on :

(@) Analysis of variance

(b) Sampling in accounting.

What are the most important characteristics of standard deviation ?

Give the limits of standard deviation.



Total No. of Questions—4] [Total No. of Printed Pages—3
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M.A. (Part I) (Second Semester) EXAMINATION, 2009
ECONOMICS
EC-208 : Community Development and Planning
(JUNE 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(ii) Figures to the right indicate full marks.

(i1zi) Answer should be precise and to the point.

1. Answer the following questions in 500 words each (any one) : [20]

(1) Criticafly examine the Prebisch-Singer’s hypothesis of
development.

(2) Explain the post-Marxism in the light of current social

development.

2. Answer the following questions in 500 words each (any one) : [20]
(1) “Redefining the concept of social development in term of
Redistribution of Income and basic human needs is worth while.”

Comment.
(2) What is Social Planning ? Explain the need for social

planning.
P.T.O.



3. Answer the following questions in detail with 250 words each (any
two) : ‘ [20]
(1) Elaborate the term ‘Social Capital’. Give the difference between
‘Capital’ and ‘Social Capital’.
(2) Explain the International population policy.
(3) State the interdependence of Social Development and the
Environment.

(4) Give the detéils of India’s Population Policy.

4. Write short notes on (any four) : [20]
(1) Shumpeterian theory of underdevelopment
(2) Basic human needs
3) Importance of social environment
(4) Values and Beliefs
(5) Collective behaviour theory

(6) Co-relation between planning and aid.

(R wwiw)
9% : AW THUT 7T : 80
O :— () W WA diefan oAt IR
(i) SSawele 3w Yol o i
i) SW WS 9 YRS SEEM.
(ijv) TRV W@ SUSH RIS UEml.
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1. UPGuH HIUEE TRl Yad <) 500 =i fos [20]
(1) Y- arn faewm ufsas’ Sene uReEw &
(2) ww fufade ‘amfss foem’ @1 TR adaRHRE gmfss 4R

e 6.

2. WHGUH HURE TR WAE W 500 7@ fom [20]

(1) ‘IO qAdied § Youd TS A1 Hewidie s fasrart qafifda
e P e w2 wE &

(2) e fEeA =S w7 geise FRsAET WS TR #

3. ol FUEE @R WA EE 250 T=W OIS fow : [20]
(1) ‘wmﬂi@a@"ééwﬁwﬁwwwﬁmmam
(2) AR AHGEAfaTaSs YRV W FH.
(3) umfss fawg onfn wfERw Fi=rdle WeRESfE WR &1
(4) 9Rar AFGRATHIE  HROTE YW Aifedt =L

4. dewEm dw few (FUEE WW) [20]
(1) e T sedfasda fagid
(2) YoYd WA TR
(3) umfse wafeRom Hee
(4) 7™ afu #x
(5) wHEw e fagid
(6) frism o1ft1 #ga (Aid) =G HeHaY.

[3604]-208 3



Total No. of Questions—4] [Total No. of Printed Pages—3
| ~ [3604]-3
M.A. (Part I) (Term-End) EXAMINATION, 2009
ECONOMICS
(EC-3 : Indian Economic Policy)

Time : Three Hours Maximum Marks : 60
N.B. :— (i) Attempt All questions.

(it) Figures to the right indicate full marks.

(zit) Answer should be precise and to the point.

(ilv) Draw neat diagrams wherever necessary.

1. Answer the following questions in 20 words each (any seven) : [14]
(1) Define economic development.
(2) Define Human Development. Index.
(3) What is pressure groups ?
(4) Define Birth Rate.
(6) What is Population Explosion ?
(6) Define Poverty.
(7)  What is ‘Social Infrastructure’ ?
(8) State the two sources of Energy.
(90 What is Planning ?
(10) What is sustainable agriculture ?

2.  Answer the following questions in 50 words each (any two) : [8]

(1) State the various approaches to Economic Development.

P.T.O.



(2)

State the role of Non-Governmental Organisations in Economic

Development.
(3) Explain the causes of Poverty in India.
(4)  What is technological change in agriculture ?
3. Answer the following questions in 150 words each (any three) : [18]
(1) What are the effects of urbanization on the civic
amenities ?
(2) What are the general objectives of Indian Planning ?
(3) Explain the nature of environmental imbalances.
(4)  Explain the concept ‘Terms of Trade’ between agriculture and
industry.
(6) What are the causes of Migration ?
4. Answer any one of the following questions in 500 words - [20]
(1) State and explain the nature and causes of regional imbalance
in India.
(2) Explain the problems of Agricultural Marketing. What are the
remedies to solve this problems ?
| (WS wUiw)
@ : W A | THUT T : 60

AW :— (1) W WA ARAF IR

(i) SElwele s® Ul U Eifear.
(fi) IW I9& 9 HEYT orgHi.

(lv) TRFH dd Yok STFHFA Flal.
(v) R T S YEAe ueE.

1. OET WAEH IW YAR 20 =6 fowl (FURE WE) [14]

(1)
(3604]-3

sfds  fawa=it =arewr @
2



(2) wHEl faera fdzie=t (HDD) =amenn =
(3) TAE M WIS w1 ?

(4) SHRUEl e W

(5) 'OhUEiEl YERR' WS wE 7

(6) Tl =ren w@m.

(7)  wmifsies ¥ ®US %I ?

(8) o= @ mrl @

(9 EsA = wE ?

(10) ¥M@ed 3dl U HE ?

2, WO WAE IW YAS! 50 7= fow (FRd @) [8]
(1) onfls fowgm fafew giem @m
(2) onfde fomdie skTwEE (NGO) o=t yfyer @,
(3) WRAdie JEARR wRY w2 &
(4) TR oo difys sco WU w7

3. Ul WWHEl SW UGl 150 T=[ fow (FURE @) [18]
(1) el Al gfageR §om o s 2
(2) 9 FRSEET gdare Sfesesl w2
(3) YA Srodior WEY W %
4) Tawe a Afeue amdie suR I fi geeaT wWw w0
(5) THSAE HRO KO ?

4, THOUH] HUCIE Wk WA 500 I @Een (20]
(1) 9RAle YRiEe Tuuded Wed Hf &RY 9 8 W Fq.
2) Nove fowled=n o wWw %0 @ gneE gefEwam Iy

HOA ?
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Time

N.B.

[3604]-301

M.A. (Part II) (Third Semester) EXAMINATION, 2009
‘ ECONOMICS
EC : 361 : Macro-Economic Analysis—I
(JUNE 2008 PATTERN) |

: Three Hours Maximum Marks : 80

:— (i) Attempt All questions.
(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.
Answer any one of the following questions in 500 words : [20]
(i) Explain the social accounting of National income.
(ii) Compare classical approach and Keynesian liquidity preference

approach to the demand for money.

Answer any one of the following questions in 500 words : [20]
(i) Explain and evaluate the absolute income hypothesis and life
cycle hypothesis in consumption.

(ii) Critically examine Fisher’s quantity theory of money.

Answer the following questions in 250 words each (any two) :
[20]

(i) Explain the circular flow of income in two sector economy.

(ii) State the determinants of High Powered Money.

(iii) Explain the factors affecting marginal efficiency of capital.

(iv) What are the factors that determine money supply ?

P.T.O.



4. Write short notes on (any four) : [20]
(i)  The accelerator
(i) Monéy multiplier
(iii) Investment multiplier
(tv) R.B.I. approach to money supply
(v)  Liquidity trap

(vi) Keynes’ psychological law of consumption.

(W& i)
@ : @ T THIT T : 80
T i— () W WA drean |
i) SwEle s% gl T el
(iii) IW FHA! I PRHT W
(iv) WHEE q@ ST weeutes e,
1. ©Ee WA R Tw S 500 T fow [20]
) T I qmie SEieT WR F:
@) W Wi W qeteE s S e TEd g

I gE H
2. GO WwAE FHUAE U@ S 500 n<E fow - [20]
() SEde FRIY Sa= uftwerT s Se s afeenT W e
RICEE: e T

(@) Twmr=n 9o den 9m fogm fesrms w@am .
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3. UAle WA IW YIS 250 T fom (FoRd @) [20]
@) Tgdm & sd=addis O™ 9F@R YeR W 9.
(i) TR T feRs wew @
(i) wigagoren WA FEamdeR TRUM SR YeE W &
(jv) W WA RFOM TeF IR R ?

4. deRE dw fow (FoRE WAw) - [20]
@) ¥
@) WM s
(iii) T[AEH O
(iv) emstsmE. (RBI) =1 Wmen [&ew dei=n geem.
©(v)  Ed g
(vi) HEE ITMESSET TSNy .
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Time :

N.B.

[3604]-302

M.A. (Part II) (Third Semester) EXAMINATION, 12009
'~ ECONOMICS
EC : 302 Economics of Growth
(JUNE 2008 PATTERN)

Three Hours Maximum Marks : 80

:— (i) Attempt All questions.
(1i) Figures to the right indicate full marks.
(iiz) Answers should be precise and to the point.
Answer any one o}" the following questions in 500 words : [20]
()  Explain the role of Capital, Labour and Technology in the process
of economic growth.

(it} State and explain Ricardo’s theory of econcmic development.

Answer any one of the following questions in 500 words : [20]
(i)  Explain Karl Marx’s theory of economic growth.
(ity  Critically evaluate Schumpeter’s theory of economic develop-

ment.

Answer the following questions in 250 words each (any two) :
[20]
(i) What is the contribution made by J.S. Mill in development
of growth theories ?
(i) Explain Malthusian theory of economic development.
(iti) What are the assumptions of Prof. Mead’s Model ?

(iv) State the assumptions of Mrs. Joan Robinson’s Model.

P.T.O.



Write short notes on (any four) : [20]
(i)  Features of Economic Growth

(it) Surplus value

(iit) Actual Growth Rate and Natural Growth Rate

(tv) Innovation

(v)  KEconomic crisis

(vi) Distinction between Harrod and Domar Model.

(WS BUIR)

- THIT 10T : 80
gaTr — () wd YA e

1.

3.

(i) SoEHSe & U 0 gEifad.
(i) W "H&A! 9 HgS IAEEM.
(jv) GEWEE T SUSH WEHA-URRT TRl

oG WS HUEE TEH 3w 500 =W few (20]
() wiede, g9 9 TE A fEE Fgeien gheamdie gfner s
7

(i) Tepreten onfde fawmmmn faga @m 3 w= &1

WGIG TG hIER WD S 500 1= fomr . [20]
() wS TEg= o fawmmn f9gid e &
(i) IdeTen enfdw fommren fagiae dwcds qoaEma w9

AT WA TR GAR! 250 T=@ (R (FUGE EF) [20]
) . 9 ww fhe g onfdw goen fugade drem w2
(i) weugeE sfds fawmren faga W= &

Gi) W fug wem wfaumen eada S ?

(jv) imdr S Afe=n wfaamrEr Jfeqaa woEr 2
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4.

dgier 2 fom (FUGE W)

(i) onfdw g AT

Gi) s g

(iii) orE ggey 3 Wit gae
(jv) FaY

(v) e enfices

(vi) TE T TR F=A Ffowmre 9.
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[3604]-303A

M.A. (Part II) (Third Semester) EXAMINATION, 2009

ECONOMICS
EC : 303 (B) Econometrics
(JUNE 2008 PATTERN)

Time : Three Hours : Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.
(iit) Answers should be precise and to the point.

(iv) Use of calculator is allowed.

1. Answer any one of the following questions : (20}

(1)

[3604]-303A

Find out the reduced form of the following National Income
Model : |

.Ct=oc0+ a Y, - T) ... (1)
" L = B,Y,, + BR, ... (2)
Y, = C,+ L + G, ... (3)

where the priori restrictions on the model are expressed by
0 <a; <1, B >0, B,<0

where C,, I, and Y, represent consumption, investment. National
income respectively and are current endogenous variables T,
R, and G, represent taxes on income, Government regulator
and Government expenditure respectively as current
exogenous variables and Y, ; is classified as lagged endogenous

variable.

1 P.T.O.



(2)

Consider the identitiability of the following group of the
equations in terms of endogenous (Y), exogenouns (X) and error
variablesﬂ () :

up = Yy + apXy + apXy + a3Xg + ay X,

uy = by Yy + Yy + byg¥g + a5y Xy + a0y + agXy

ug = b31Y1 + Yy + a31X1 + a32X2

2. Answer any one of thé following questions [20]

(1)

(2)

[3604]-303A

The study of the behaviour of sales of automobiles, over a
number of years, with a given models as follows :
Y, = B, + Byt
Y, = o + oyt + 0yt?
where Y, = sales at time ¢ and ¢ = time, measured in years.
The first model postulates that sales is a linear function of
time, whereas the second model states that it is a quadratic
function of time.
(a) Discuss the properties of these models.
(b) How would youvdecide between the two models ?
(¢) In what situations will the quadratic model be
useful ?
Find the auto-correlation coefficient for the series :

Y = 22, 25, 25, 24, 26, 25, 26, 27, 27, 27.



3. Answer the following questions (any two) : [20]

(1) Suppose you estimate the consumption function :
Y, = oy + 0X, + uy,
and the saving function :
Z, = By + BX + Uy
where Y = consumption, Z = savings, X = income and
X =Y + Z, that is income is equal to consumption plus savings.
Now show :
(@) What is the relationship between «, and B, ?
(b) Will the residual sum of squares RSS, be the same for
the two models ? Explain.
(2) Consider the following model :
o1+ P1Xi
Y'i - 1 + eP1*B2X; ’
As it stands, is this a linear regression model ? If not, how
can you made it a linear regression model ? How would you
interprete the resulting model ?

(3)  Write a detailed note on ‘Multicollinearity’.

4, Explain the meaning of identification. Compare and contrast
the identification problems arising in regard to (1) supply-demand
model for an individual commodity and (2) simple saving
investment model of a whole economy.

4. Answer the following questions (any four) : (20]

(1)
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If you have a monthly data over a number of years, how
many dummy variables will you introduce to test the following
hypothesis ?

(@) All the 12 months of the year exhibit seasonal patterns.
(b) Only February, April, June, August, October and December

exhibit seasonal patterns.

3 P.T.O.



(2) Write a note on dummy variable.

(3) Explain Logit, Tobit models.

(4) Comment on Hypothesis testing in Multiple regression.

(5) State the meaning and importance of econmetrics, with its

limitations.

5. Given the assumptions in column 1 of the table given below, show
that the assumptions in column 2 are equivalent to them.

Assumptions of the classical model :

1 2
Ew/X,) = 0 EY/X) = By + BX
Cov(ufu;) = 0 i #j Cov(Y;, Y) = 01 #j
Var(ui/Xi)‘ = o2 Var(Y/X) = o2

[3604]-303A 4
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Time

N.B.

[3604]-303

M.A. (Part II) (Third Semester) EXAMINATION, 2009
ECONOMICS
EC : 303 (A) Research Methodology
(JUNE 2008 PATTERN)

: Three Hours | Maximum Marks : 80

:— (i) Attempt All questions.
(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.
Answer any one of the following questions in 500 words : [20]
(i) Briefly describe the different steps in a research process.
(i) Explain the different methods of collection of primary
data.

Answer any one of the following questions in 500 words : [20]

(i) What is research design ? Explain steps involved in its prepara-
tion.

(ii) What is tabulation ? Why is tabulation considered essential
in research study ? Explain the characteristics of a good
table. |

Answer the following questions in 250 words each (any two) :
[20]

(i) Explain the characteristics of good hypothesis.

(ii) What are the different sources of secondary data collection.

(iii) Illustrate the different types of questionnaire.

(iv) Explain the advantages of observation technique.

P.T.O.



4. Write short notes in 100 words each (any four) : [20]
(1) Stages in Report writing -
(i) Use of Information Technology in Research
(iti) Types of Sampling
(tv) Objectives of Social Research
(v) Measures of Central Tendency

(vi) Benefits of Social Research.

(W w0
4% : 9 aw | | THIT TUT : 80
AT :— () WE WA RIS IR
(i) IEESE siw o U i
(fii) SW AHHR I Heygs EE.
(iv) FRHEE Hos TUSH WEAUCART TerEl.
1. Uoe WA T&E 500 I W fow (iRl @) [20]
() G yfedde fafay ueeai dieR@ 9uiH &L
(i) wafus miedt (9d) Ghewwren fafaw usdt ww w5

2. WD WAl &S 500 KW W fed (SR wwm) [20]
(i) EIE @Sl WUN %1F 7 GINEH NSl TR HUEe  qrEedl
W HA.
(i) TfeHE (Tabulation) TUN HE ? TN HAWIME I HLom=l
IS KT G 7 A Aokl AT R .

3. Wl WA Y& 250 =K@ S foE (FORE dE) [20]
() = fea Fa AT WR w3
(i) <T=m Wi Weewrw fafay #@nl Ho ?
(i) TAESR fafay TER T H
vy TEm R wER R S

[3604]-303 2



4. THT dU TS 100 =W fow (FRE WR) - [20]
() OIS D@l UEEl ‘
(i) WEMeEde wfed doEEe e
(i) N e ywR
(v) wAIfS® Gy IEees
() w5 yoEEt e
(i) WHISF WY FRR.

[3604]-303 3
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[3604]-304

M.A. (Part II) (Third Semester) EXAMINATION, 2009
ECONOMICS
(Optional Paper)
EC : 304 Banking and Financial Institutions
(JUNE 2008 COURSE)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.
(ii) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.
1. Answer any one of the following questions in 500 words : [éO]
(1) Explain the structure of the financial system in Indian Banking
Sector.
(2) Critically evaluate the performance of Commercial Banks in
India after 1969.

2. Answer any one of the following questions in 500 words : [20]
(1) Evaluate the functions and role of Small Industries Development
Bank of India (SIDBI).
(2) Explain the functions and working of International Monetary
Fund (IMF).

8. Answer the following questions in 250 words each (any two) :
[20]

(1) Explain equilibrium in Financial Markets.

P.T.O.



(2) Explain the structure and performance of Co-operative Bank
in India.
(3) State and explain the nature and significance of Non-Banking
Financial Institution in India.
(4) Explain the role in development of International level of Euro-
dollar and Euro-currency markets.
4, Write short notes on (any four) : [20]
(1) Indicators of Financial Development.
(2) Objectives of Monetary Policy.
(3) Types of Mutual Funds.
(4) Life Insurance Company.
(5) Function of the EXIM Bank.
(6) Foreign Direct Investment (FDI).
(RIS waie)
qe ; T T THOT T : 80

oA — () W WA S
(ii) maﬁmmwmaﬁm
(i) SW AET 9 YRS AWHEM.
Gv) Tewidl e TS WEAAAE qRrE.

1. PUE ww WIS 500 =W W few ¢ [20]
(1) uRdm o Wﬁ?ﬁ‘qwnﬁ%ﬁmmm
(2) 1969 FaT FEANG WKATIS SR Fehiea HTARRS Jehrees TeaHr
.
2. FUAE WE WA 500 I=i@ SW femr (20]

(1)
(2)

[3604]-304
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3. TOle WA TIH! 250 TEid SWfew (FvRd de) (20]
(1) fodita soRde 9ade o &4
(2) YRAH® WehKl d@Et WA 9 SEIR TR F:.
(3) WG dhm fodild TR WEY 9 TRE 9 A ore &9
4)  FO-TIR A JA e A= AL URbais e yfiae
W F.

4. deEm dAu fem (FUEE WR) [20]
1) fom foeem fm
(2) <oAfawgs  Rore 3fes
3) YR fdfie g&R
(4) ongfem @yt
(5) omuE-frafa St ®3F (EXIM Bank)
6) fad=ft wee waauw (FDI).

[3604]-304 3
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[3604]-305

M.A. (Part II) (Third Semester) EXAMINATION, 2009
ECONOMICS
EC : 305 Welfare Economics
(JUNE 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.
Answer any one of the following questions in 500 words : [20]
(i) What is Welfare Economics ? Explain Marshallian Welfare
Economics.
(ii) What is Pareto Optimality ? Explain optimum exchange

conditions.

Answer any one of the following questions in 500 words : [20]
(i) Explain Kaldor and Hicks’ contribution in welfare
economics.

(ii) Explain the cost-benefit analysis.

Answer the following questions in 250 words each (any two) :
[20])

(i) Explain Hicks’ consumer surplus.

(ii) Explain Arrow’s possibility theorem.

(iii) Explain the problems of public goods.

(iv) Distinguish between private and social costs.

P.T.O.



4. Write short notes in 100 words each (any four) : (20]
(i)  Scitovsky double criterion
(it) Utility function of Individual
(fit) Marginal cost pricing
(iv). Community indifference map
(v) External economies |

(vi) Pigovian welfare economics.

(W i)
¥ : d T\ TFHOT T : 80
g — (@) W& WA e
(i) 3IewSte & qU IO e
(fii) IW AT 9 HeHT IIHE.
(jv) GRWIEE W TUSH WEUlAHl UgrEl.

1. HUAE T& WA 500 TR SW fom e [20]
(i) FHFEVHN R WIS HE ? UEIOY FAUGR HEMEH W
C|

(i) YRET TRAHAT WU s ? Iay fafma o W wu.

2. WHUCE TH WA 500 I SR fom [20]
(i) wlceR 9 feomm 99 UM JFhTEmde dTRA WR &
(i) @%f—amﬁrésmwm.

3. THe WAE Taw 250 TKM SW fow (Fvnd @) [20]
(G) ferga Saiere 9aWiys W FJ1.
@) = TeEa fage W= &1
(iii) WESTH T GHE W S
(lv) G 9 e 9% 9Mdie ®E W &l
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4, TIAHR 100 T deEE du fom (FRE Ww) - [20]
() AR qd e
(i) AT TR
(i) W< w4 feAa
(iv) WEfS® THg@  FERT
(v) eI SR
(vi) TR FEUER ARTH.
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[3604]-306

M.A. (Part II) (Third Semester) EXAMINATION, 2009
ECONOMICS
EC : 306 Economics of Finance
(JUNE 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.
(#i) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.
1. Answer the following questions in 500 words each (any one) :
[20]
(i) State the characteristics of securities. Explain the types and
regulations of securities.
(ii) What is efficient market hypothesis ? Explain the forms of
efficient market hypothesis.

2. . Answer the following questions in 500 words each (any one) :
[20]
(i) What is Derivative ? Explain the types of derivatives.
(ii) What is options market ? Explain the mechanics and types
of options.

8. Answer the following questions in detail with 250 words each
(any two) : [20]
(1) Explain the types of swaps.
(i) Explain the fixed income securities.
(iit) Explain the Arbitrage Pricing theory.
(fv) Explain the functions of SEBI.

P.T.O.



4. Write short notes on (any four) : [20]
(i) Corporate securities
(ii) Stock market
(iii) Financial sector participants
(iv) Hedgers
(v) Over-the-counter market

(vi) Net present value.

(W& i)
¥z : M AW TEHIT TOT : 80
gaEN :— () wd WA RIS AR ‘
(i) Sodwets e qof o SFifedm.
(iii)) JW AET T ALYG FAIET.
(v) TRAEE A& IS WU Tl
1. WO WAE SW® YIH 500 =@ fow (HUE WH) : [20]
(@) vferdst afired @ g gied= yer 9w s #
(i) ‘wrdym SR YEAE BN FE 2 FEGH G9R Tfedh ThR W
.

2. WP WAE YR 500 IRW SR fom (Fvd ww) [20]
() SV WUS HE 7 AISEHE. YRR W F
(ii) ﬁmwmm?ﬁwmmamw
H.

3. wde WA TRW! 250 I=E S foR (FRE @F) [20]
(i) ORTIEd YHR W &
(i) fer = i@ &= Fa
(i) gAiawuR fraa fagia @ &1
Gv) ‘[ FE wWE FA
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4. deEm A few (RvRE W) -

@)  wuR yfqydt

(i) 3R FEIR

Gii) Tt ame B |
(iv) w=E®Hd

(v) w@fRa fofma aR
(vi) T adam gea.
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[3604]-307

M.A. (Part II) (Third Semester) EXAMINATION, 2009
' ECONOMICS
EC : 307 Economics of Environment
(Optional Paper)
(JUNE 2008 COURSE)

Time : Three Hours Maximum Marks : 80

N.B.

:— (1) Attempt All questions.
(it) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.
Answer any one of the following questions in 500 words : [20]
(i) ‘Environmental development is correlated with sustainable
development’, comment.
(i) Explain in detail the effects of environment on human
lives.

Answer any one of the following questions in 500 words : [20]

(i) Discuss the effects of climatic change on global economy.

(ii) ‘Environment education is essential in controlling pollution.’
Discuss.

Answer the following questions in 250 words each (any two) :
[20]
(i) Explain the benefits of social forestry.
(i) Discuss the policies for controlling water pollution in
India.
(iit) Discuss the informal regulation of pollution control.
(fv) Discuss the contingent valuation method.

P.T.O.



4. Write short notes in 100 words each (any four) : [20]
(i) = Types of Environment
(ii) Policies controlling air poliution in India
(iii) Importance of Environmental Education
(iv) Environment and W.T.O.
(v) Macroeconomic policy and Environment

(vi) Physical capital and its effect on environment.

(WS FUw)
q% : T THUT TEOT : 80
gEN — () W WA e | |
(i) IETHSIS @k YUl IO Eifer.
(iii)) SW HH 9 RS STHE.
1. IUEE TH WAR W 500 T fow [20]
G) ‘uuieRw foew @ Tmed fowwml wewedt SR’ H
(i) W Stamee e giemm gfer e AT

2. HUER WH WY 500 I SWfem [20]
() TEHEe Seoie Smfew  sidferarder domen uftemmmrst ww=
.

Gi) ‘ugew FRioma wHeRe frew emeREs O R wei HT

3. wdT WA TS 250 Tid SW fow (FUE ) [20]
() WHISE SIS HEe WS R
(i) YRAre woyguu fEsm gRorEt s= o 6
Gii) e FrEEum sHwefe feed ==t w5
(iv) oTHfos® Hodiwd Tl o =E B

[3604]-307 2



4. YAHR 100 T<d dewE dw fow (FUE |\r)

(i) UAEITE YR

(i) YRade T SgeW fEson Hewid ¥Ra
(i) ARy fgome AEd

(jv) vAERW offn SEfae =UR gued (W.T.0.)
(v) U oNfde oo anfor TiERw

(i) HNfaF vicae o o= wAEmEde  gfiom.
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[3604]-4
M.A. (Part I) (Term-End) EXAMINATION, 2009
ECONOMICS

EC-7 : Industrial Economics

Time : Three Hours Maximum Marks : 60
N.B. :(— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.

(iti) Answer should be precise and to the point.

1.  Answer the following questions in 20 words each (any seven) : [14]
(1) Define Industrial Economics.
(2) What is Integration ?
(3) What is Diversification of Firm ?
(4) Define Industrial Combination.
(5) Define Merger.
(6) © What is meant by Industrial Monopoly ?
(7)  What is Industrial Location ?
(8) What is Price Discrimination ?
(9) Define Industrial Productivity.

(10) Define Small Scale Industry.

P.T.O.



2. Answer the following questions in 50 words each (any two) : [8]

(D)
(2)
3)
4)

Explain the scope of Industrial Economics.
Explain the importance of industrial combination.

State the factors affecting industrial location.

‘State the different product pricing techniques.

3. Answer the following questions in 150 words each (any three) : [18]

@

(2)
3)
4)
(5)

Explain in detail the concept of imitative pricing.
State and explain the objectives of firm.

Discuss the price policy of Public Sector Units.
Explain the constraints on Industrial growth.

State and explain the significance of Industrial Economics.

4. Answer any one of the following questions in 500 words : [20]

(1) Discuss in detail the factors affecting industrial productivity.

(2) Critically examine the Weber’s theory of Industrial Location.
@@ ')

q% : A THUT 7T : 60

AT — () W WA SRIEH IR

(i) 3IEIhEre i YU U <Fifoar.
({ii) IW HEHS o THKI IFWET.
(lv) TewiEdl Az TSt WUl geme.

1. Uoe WA S Ydel 20 K fowl (Fvhel 9|) [14]

(1)
(2)
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(3) SR fafgdie wus wE ?
(4) oieifies warmEl SATEA L

(5) fooieptum=it =arear <.

(6) oieNfis WHRRRl WIS &M@ ?
(7) ohafe wAtR=d =S w e ?
(8) TR WIS ®F ?

(9) ohafied IURSAE TR <l
(10) oYUM AT .

2. OIS WAEl Y@@ 50 I W few (FUaE @F) [8]
(1) oeifis selTE e TR .
(2) oiEifies AR Ae@ WR &
(3) oiEifier wyFfAf=dioR oo oM wesw i,
(4) A fema ffR=d=r fafay @ @

3. WP WwaE S TSl 150 I[ fow (Hiad @) [18]
(1) frma qeREl Gwead Gfaal TR .
(2) M W= e WEm @ We w6
(3) UEseh Qe SEnen fRHa dRumrEl w=i o @
(4) oheifie goidic scus fmR *U.
(5) oiEifies R HWE@ G 9 R .

4. ISR HUAE THE WA 500 I Giedl [20]
(1) Sirifier SRR Ufom FOA HeEmEl gfaeR 9=l WA
(2)émafwsﬁ@ﬁquﬁﬁa?ﬁwfumﬁmwﬁwm.
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Total No. of Questions—4] : [Total No. of Printed Pages—4

[3604]-5
M.A. (Part I) (Term-End) EXAMINATION, 2009
ECONOMICS
(EC-08 : Labour Economics)
Time : Three Hours Maximum Marks : 60
N.B. :— (i) All questions are compulsory.
(1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

1. Answer the following questions in 20 words each (any seven) : [14]
(1) What is meant by labour market ?
(2) What is supply of labour ?
(3) Define the concept of inflation.
(4> What is Globalisation ?
(5) What is money wage ?
(6) Define unemployment.
(7)  Define Bonus.
(8) State the two determinants of demand for labour.
(9) When is Poverty ?

(10) Define fair wage.

2. Answer the following questions in 50 words each (any fwo) :(8]

(1) Explain the nature of unemployment of developing countries.
P.T.O.

!
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(2) What are the characteristics of Indian labour market ?
(8) Discuss the need of minimum wage.

(4) State the importance of Bonus system.

3. Answer the following questions in 150 words each (any three) : [18]
(1) Discuss the effects of technological change on employment.
(2) What are the measures to improve productivity of labour ?
(3) Discuss the provisions of Payment of Bonus Act, 1965.
(4)  Describe the Marginal Productivity Theory of Wage.

(5) T®xplain the methods used for labour recruitment in India.

4. Answer any one of the following questions in 500 words : [20]
’ (1) Describe the Indian National Wage Policy.
(2) Discuss the problems related to labour markets in India and

suggest the measures to improve it.

& i)
Q5 : I T THIT T : 60
GO — () W WA OHTH .
(i) Sodiwele ow Yol U SFifer.
(i) S IR G YRYT  IWET.
(v) HTewiardt Wz Uil WAuPHeT gemE.

1. wole B W Yd® 20 I=E o (Fivgt ||) [14]
(1) W IFR WIS & 7

- [3604]-5
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@) FHE [EE WU w2

(3) woEE A Uheqddl e Wl
(4) “fdstel B ®E 7

(6) Wwe 91 wmUS wE ?

(6) WS = @

(7) «F9dEt sSIeE .

(8) sl AR @M Muie wes .
© g = wE 2 |

(10) et AR wwEn .

2. I WAE SR YIS 50 T=@ fo@ (FRd ) [8]
(1) forawie dmde SRR =€y /g #:a.
(2) R #W e SfTe o 2
(3) foum dael eRIHa AR =@=l Hw
(4) W9 Ugde HEE A

3. Wole WA IW TR 150 =W fow (RvRd @) [18]
(1) EAES acor IR Aurw i 9=t &
(2) &Sl IUEHA FefAvA™ Y RO 7
(8) 1965% WY AU HEUMIG Y@ WIRE =4 F

[3604]-5 3 P.T.0.



4)
(6)

YRAd S8 WA aedl SOl 9gdl o &9

4. HUEE WH WA Gea (500 T=E) : [20]

(1)
2
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Total No. of Questions—4+4] [Total No. of Printed Pages—8
[3604]-6
M.A. (Part I) (Term-End) EXAMINATION, 2009
ECONOMICS
(EC-12 : Quantitative Methods)

Time : Three Hours Maximum Marks : 60
N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

(v) Use of non-programmable calculator is allowed.

1. Attempt any seven out of ten : [14]
(1) Find :

lim [xs (x+ 4)] .

x—2

(2) Differentiate w.r.t. «© :

_ 1057 -62"
2x

(8) Define ‘function’.

(4) Condense :

P.T.O.



(6) What is ‘Final Demand’ in I-O analysis ?
(6) Find the equilibrium quantity and price :
Q = —20 + 3P
Qg = 220 — 5P
(7) Find the first order partial derivative :

z = 82 + ldxy + 5y2.
(8) What is a universal set ?
(9) Define ‘Scalar matrix’.

(10) What is a ‘duality’ ?

2. Attempt any two out of four : [8]

(1) Given AR = 60 — 3Q. Plot the Average Revenue Curve and
MR (Marginal Revenue Curve).

(2) A man bought 4 cows and 12 goats for Rs. 1,600. He sold
the cows at a profit of 15% and the goats at the profit of
20%; and made a profit of Rs. 270. What did each cow and

goat cost him ?

(3) Write a note on Linear Programming.

slod el s

Find ‘@’ and ‘b’ such that AB = BA.

4 If :

[3604]-6 2



(1)

[3604]-6

3. Attempt any three out of five : [18]
(1) Explain the concept of Input-Output model.
(2) Among all pairs of positive numbers with sum 24. Find those
whose product is maximum.
(3) Show that for the Total Cost Function :
¢ =Jax+h,
where ‘@’ and b’ are positive constants, the elasticity of TC
increases but remains less than unity as x increases.
(4) Prove that :
0 ab® ac?
a’b 0 bc? =24
a?c b% 0 .
(6) Given demand function D = 10 — 6P and supply function
S = 4P - 5. Find :
(@) Equilibrium price.
(b) Equilibrium quantities demanded and supplied.
4. Attempt any one out of two : [20]

Use Cramer’s rule and solve the following equations :

(a) 3x1 - 2x2 = 11
2x1 + xz = 12
(b) 6x1 + 9x2 = 15

Tx;1 — 3xg = 4.
For each of the equation systems, find the inverse of the

coefficient matrix and get the solution by formula X = A™14.

3 P.T.O.



(2)

[3604]-6

1
- Also show that the maximum value of the function 2x + or

The total cost (in Rs.) of producing x hundred units in a company
is given by :
Ch) = x5 - 522 + 10x.

Find the expression for marginal average cost. Interprete the

marginal average cost at a production level of 400 units.

X

is less than its minimum value.



[3604]-6
(EC-09 : Quantitative Methods)
Time : Three Hours ’ Maximum Marks : 60
NB. — () Attempt All questions.
(ii) Figures to the right indicate full marks.
(iii) Answers should be precise and to the point.
(iv) Use of calculator is allowed.

(v) Draw neat diagrams wherever necessary.

1. Answer the following (any seven) : [14]
(1) Obtain the derivatives of :
(@ 1 + 222 + 3x4
® @1 + x5

(2) Solve :
(@ 375 + 5J15
®) 43105 -2%21.
(3) Define null matrix. |
(4) What is Saddle point ?
(5) Integrate :
2

(@) x4 - 6x

b)) x3 - x2 +

[3604]-6 5 P.T.O.



(6) What is linearity ?
D Define rational function.

(8) Find :

lim [2® (x+4)].

x—4

(9) Evaluate :

422
J‘ x+xdx

x-1 .
2

(10) What do you mean by function ?

2. Answer the following (any two) : - [8]

(1) y=x2— x — 6. Find the values for ‘y’ when ‘% varies successively

from -3 to +4 in step of one.

(2) A firm has the following marginal cost function MC = x + 100,
where %’ is the number of units produced. Determine the total

cost (TC) function if TC = Rs. 40,000, when x = 100.

(3) The total revenue (TR) from sale of %’ is given by the equation
R = 100q - 2g2. Cslculate the point of elasticity of demand

when marginal revenue is 20.

(4) Find the differential of :

=322 452
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3.
(D
(2)
3)
4)
(5)
[3604]-6

Answer the following (any three) : ) [18]

* Minimise costs of a firm ‘with the cost function -

C =622 + 20y + 32 4+ 1000,
subject to the production quota x + y = 39,

Given Q = 400 - 8P + 0.05Y, where P = 15 and Y = 12,000.
Find the income elasticity of demand, also find the growth
potential of the product if income is expanding by 5% p.a.

The average cost functions (AC) for certain commodity is given
by AC-= 2x~1+7 in terms of output x. Find the outputs
for which AC is increasing and the outputs for which AC is
decreasing, with increasing output. Find also the Total Cost
(TC) and Marginal Cost as functions of output x.

What are the limits as x — e of the functions.

x+1
3x-1

(@)

2x+1
x-1

(b)

_'_7x2+x-2

() 322 —4x+1

2x% + 8x +1
d ———.
3x“ -4x+1
The utility function of a consumer is U = 6xy, where x andy
are the quantities consumed of two goods. The price of x is
5 per unit and that of ¥ is 10 per unit. If total expenditure

is limited to 100, what is the maximum value of 1° ?

7 P.T.O.



4. Answer the following (any one) : [20]
1) If:

>
I
W = O

1
2
1

W N

verify that A.(adj A) = |A|.I when I is the unit matrix

of order 3.

(2) Explain fully the structure of an open Input-Output model.

Give suitable examples.

[3604]-6 8
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MA. (Part I) (Term-End) EXAMINATION, 2009
ECONOMICS
(EC-10 : Econometrics)

Time : Three Hours ‘ Maximum Marks : 60
N.B. :— (i) Attempt All questions.

(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

(v) Use of calculators is allowed.

1. Answer the following (any seven) : [14]
(1) What is ‘Adjusted R? ?
(2) State any two properties of OLS residuals.
(83) State the meaning of ‘Exact multicollinearity’.
(4) State two properties of multivariate normal distribution.
(5) Define ARIMA.
(6) Define ‘Variance’.
(7) What is maximum likelihood estimation ?
(8) Define Logit model.
(9) What do you mean by ‘Hypothesis Testing’ ?

(10) Define and draw ‘Scatter diagram’.

P.T.O.



2. Answer the following (any two) : | [8]

(1) Prove that :

A 2 _ 02 2
where e=y-y and Zy; =Xy, + Zef.
(2) Write a note on Dummy dependent variable.
(3) Explain definition, nature and scope of Econometrics.

(4) Explain Koyack approach to infinite lag models.

8. Answer the following (any three) : [18]
(1) Given :

x = 0.85 y O, 3

y = 0.8 «x
Find out ‘cy’ and 7.
- (2) Bring out the important features of :
(@) Statistical errors.
(b) Biased and unbiased errors.

(8) Write a detailed note on properties of OLS.

[3604]-7 2
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(4) From the following data, compute coefficient of determination

(r2) and price elasticity of demand :

Quantity Price
69 09
76 12
52 06
56 10
57 09
7 10
58 07
55 08
67 12
53 vv 06
72 11
64 08

(6) Interprete the results of the following regression equation :
Y, = -19194 + 0.1984X; + 0.16X,
S.E. = (0.19) (0.03)
R? = 0.950, a = 2.64
All notations are conventional.
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4. Answer the following (any one) :

¢y
(2)

[3604]-7

[20]

Describe the various methods of fitting straight line trend.

The following table gives the production of steel in different

years at a steel factory. Find out the equation y

a.e

bx

expressing the relationship between production and year.

Years Production

('000 tons)
1960 10.2
1961 12.0
1962 139
1963 159
| 1964 17.9
1965 20.1
1966 22.7
1967 26.0
1968 29.0
1969 32.5
1970 36.1
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M.A. (Part I) (Term-End) EXAMINATION, 2009
ECONOMICS
(EC-11 : Demography)

Time : Three Hours Maximum Marks : 60
N.B. — (i) Attempt All questions.

(it) Figures to the right indicate full marks.

(itzi) Answer should be precise and to the point.

1. Answer the following questions in 20 words each (any seven) :[14]
(i) Define ‘Fertility’.
(i) Define ‘Death Rate’.
(iti) What is Infant mortality rate ?
(iv) Define “Population Explosion’.
(v) Define ‘Demography’.
(vi) What is Gross Reproduction Rate ?
(vii) What is meant by ‘Structure of Population ?
(viti) State two social factors affecting fertility.
(ix) What is meant by ‘Optimum Population’ ?

(x) State two determinants of age and sex structure.

2. Answer the following questions in 50 words each (any two) : [8]
() What are the sources of collecting population data ?

P.T.O.



(i) State the components of population growth.
(iti) State the causes of population explosion.

(lv) State the social implications of age structure of population.

3. Answer the following questions in 150 words each (any three) : [18]
()  State and explain the demographic features of less developed
countries, .
(id)  Explain the economic factors affecting the fertility.

(2it) What factors are responsible for high mortality at Birth in
LDCs.

(tv) Write a note on ‘Demographic Transition’.

(v)  Explain the nature and scope of ‘Demography’.

4. Answer any one of the following questions in 500 words : [20]
(i)  State and explain the pattern of age and sex structure in
less developed countries like India.

(it)  Critically examine the Malthus theory of Population,

(W& walaw)
@ : A w TEHT T : 60
E — () W WA RIS ST |
(i) SSElsele ofw gl v erifaam.
({ii) IW A& 9 YT TErEd.
(Gv) WEuE Y TSl wredEeT  uemEl

1. w&de ®AE y@al 20 = SWw fes (fvmd m@) (14]
(1) SHAeHAd e o
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(i) YIaUHl =ARS

(iti) WY WSl F1E 7

(fv) DFAESA YORRNE =A@ L

(v) FRYSERNEH =R =L

(vi) YO YAXAEA S T|UN HE ?

(vii) DHGEA WA WIS HG 7

(viii) SFREHAIET oMy R @M 9IS "esw 9.

(ix) W@ SFAA BN FH  ?

(x) = oty fen v aer 9w wOm @\ wew wh.

2. wdle WwE Y@@l 50 A W few (g @) - [8]
Gy Jmued ufersl @iftd W wwoam @) a9
(ii) U ggia uEH 9.
(ifi) DHAS YRR wRO G
(lv) TVEdEd= FRAY gmies giaad T w3

3. wWE® wWAE yddl 150 I oW fow (Rivmd @) [18]
(1) FAeufaswfya n oevemiaygs At W § Ww w1 |

(i) Sgaay ufom TR e weed ww &

(fir) 3reufasmiia ndle 37" JOUIEUH HIUA HIH  SEEER oRd 7
(jv) SHUE TFHEHER Y foml

(v) OFUERTEN ©WEY 0 A T .

4, TO@IE ®UAE W YT 500 IS Gedl (20]
(i) ORaOEEn sfawfgd amdle 9g e fon @ g anfn wee
.

(ii) Weaw= Jwdefanas fogom fewrms gfism =
[3604]-8 3
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M.A. (Part II) (Term-End) EXAMINATION, 2009
ECONOMICS
(EC-4 : Macro-economic Analysis)
Time : Three Hours Maximum Marks : 60
N.B. :— (i) Attempt All questions.
(ii) Figures to the right indicate full marks.

(iizi) Answer should be precise and to the points.

1. Answer the following questions in 20 words each (any seven) : [14]
(1) What are the components of social accounting ?
(2) State the items of Government Account in social accounting.
(3) State two assumptions of Keynesian Psychological law of
Consumption.
(4) What is Absolute Income Hypothesis ?
(5) Define Marginal Efficiency Capital.
(6) What do you mean by induced investment ?
(7) State two assumptions of accelerator.
(8) What is high-powered money ?
(9) State two limitations of Bank Rate Policy.

(10) What is permanant income hypothesis ?

2. Answer the following questions in 50 words each (any two) : [8]
(1) Explain the nature of circular flow of income in three sector

economy.

P.T.O.



(2)
3)

4)

Explain the life cycle hypothesis of consumption.
State the relation between marginal efficiency of capital and
marginal efficiency of investment.

Explain the objectives of selective credit controls.

3. Answer the following questions in 150 words each (any three) : [18]

1)
(2)
(3)

4)
(5)

Explain the importance of social accounting.

Explain input-output accounting of National Income.
Discuss the relation between money supply and high-powered
money.

Explain the determinants of high-powered money.

Distinguis'h between quantitative and selective credit controls.

4. Answer any one of the following questions in 500 words : [20]

(1) What differences are generally noticed between the short-run
and long-run behaviour of the consumption function ? How
do you explain these differences ?

(2) Explain the multiplier-accelerator interact and give its uses
in business cycle.

RIS wqia)
qe : f W - THUT TOT : 60

AN :— () W WA AferE s

(i) Sodiwele F U U eFifEdE.
(i) SW AR 9 RS SHMEI.
(jv) GWHE TB TS WRAURR el

1. Wmﬁmzomwm(mm): [14]
(1) wfSes SdieT™ ¥eh Hvd ARd ?
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(2) GMIfSi DWihe TWHR S 9Sh |,

(3) e uNEEHt TRwmTEy fame W Eae @i
(4) A8 S Rae A MR ?

(5) wisdorsa HiHid OIYiHdEl S &

6) Wia TaaukEl TR e siEfEly @ ?

(7) vt @AW TER Wi

(8) == el YW WS w2

(9) ®% W HRoTeA AN HWAR G

(10) @Rl 39 TElae HE AR ?

2, WP WA FAH! 50 KM SW fow (WvRd dF) [8]
1) @ el SAdforadde SUEET IBIRR YO TR .
(2) UMW SiteEEsh JEae TR L
(8) WicaorEl WH WVHHA U qaUEmIl WHG SveHa g
ey G
(4) froes vatEaom=ar @Al Sfese W w.

3, woe WAH YAH! 150 IIREM SW fow (FRE @W) : [18]
(1) 9mfSer SEHA Hed W .
(2) UL IUE SREH-TEH S@HT TR H.
(®) | Qoa onfor s=E-TEt YW umdte deweh w=l w
(4) TowE T fAule weF TR wL
(5) UAfEEUTN WEE 9 fase vt wWe wWw 9.

4, EOYH! FUNE W WA 500 IRM WEdl [20]

(1) S hor=Al Seqshior o KA adamed ammus seed Jom
Th HIUM TRd ? TR A TE HE W O ?

(2) TUH-YATE STRRRAT TR HU. O™ AOREHe ST 9.
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